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PART A

GENERAL ABILITY AND INTELLIGENCE

1. Buddha's teachings were compiled as
Tipitaka — literally meaning thres baskets to
hold different types of texta. Which of the
following texts isfare correctly matched
according to the subject matter 7
1.  Vinaya Pitaka : Buddha's teachings
2. Sutta Pitaka : Hules and regulations

of the monastic order

3.  Abhidhamma . Philosephical matters
Pitaka

Belect the eorrect answer using the code given

below :

(a} 3only

(b} 1and?2only

{cl. Z2anddonly

(d}y 1,Z2and3

2. Gandhiji's ideology, best ardiculated in his
seminal wark, "Hind Swaraj” wrilten in 1909,
expounds that
1. ancient Indian civilization had immense

assimilative power of ahsorbing
foreigners who made India their home.

2, industrial capitalism had a detrimental
impact on human civilization,

3 Parhamentary Democracy did not
riflect the general will of the people, but
of the political parties,

Which of the above statements is‘are correct 7

Select the correct answer using the code given

below :

ta) 1only

(b 1 and2only

e} 1L, 2andd

id} 3only

LSP-U-FTS
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Which of the following was'were not the
featureds) of the BSwadeshi Movement in
Bengal (1905 — 1908) ?

L Swadoshi wae based on the idea of
self-help through industries and schools.

2 Tagore had sketched out his blue-print
for swadeshi in Siwwadeshi Samay.

3. Leaders like Aurobinde called for more
radical measures to achivve Swadeshd
goals,

4. Bhagat Singh joined the Swadeshi
Movement in its later phases,

Select the correct answer using the code given
bl

(a} 1,2amd 3 only
{b) 2and3only
{c) 3 and4only
dy 1only

Which of the following statements about
Dayananda Saraswati (1824 — 1883) isfare

correct 7

1, He was from present-day Rajasthan,

2. He found many followers from amongst
the trading castes,

3.  He founded the Arya Samaj inspired by
the Brahmo Samaj,

4, He advocated Sanakrit based education,

Select the correct answer using the code given
belowr :

(a} 1,2 and 4 only
ibl 1,3 and 4 only
fel  Zand4only
{d} 2only

Mame the British liberal who was associated
with the Manchester School that was eritical
of the British rule in India.

(a) .5, Mill

(b}  Lard Hipon

ie} Fitzgjames Stephen

idi  John Bright
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.  Name the Indian financier who funded the
building of the Bombay University clock
Lo,
in)  Cowasjes Jehangir Readymoney
(b Premchand Roychand
ic} Jamshetji Tata
idl H. St Clair Wilking

7.  The pamter Mola Ram was associated with
which one of the following styles of paintinga 7
{a) DBundi Painting=
ib)  Garhwal Paintings
el Mewar Paintings
id]l  Kangra Paintings

R, Which of the following statements about
Kautilya’s Arthaoshastrn 1s/are correct T
1. It is the first Indian text to describe a

State.

2. It does not contain any reference to the
Mauryas.

3. It is a theoretical text.

Select the correct answer using the code given

below

ial 1only

{bl  1and 3only

(el 2and 3 only

id}) 1,2and3

8.  Which of the following statements about the
founding of the Indian National Congroess
iafare correct ¥
1. It was supported hy A0, Hume whao

was g political liberal.

2, It was based on similar associations in
Bouth-East Asis.

3 It was initially supported by Indian
elites who had acceas to Western
education and English,

Select the correct answer uging the code given

below :

ial 1only

(bl 2only

icl  Zand 3 only

(dl 1and3 only

LSP-U-FTS
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Which of the following statements about the

Acholean pillars is'are nof correct, 7

1. The 14" century Tarikh-i-Firuz Shahi
makes reference 1o the Ashokan pillars,

2. The writer Shams Siraj Afif gives an
account of the Ashekan pillars known as
Delhi-Topra and Delhi-Meerut,

3. There are instances of the Ashokan
pillare or their fregments being
worshipped as Shiv Lingas.

4.  The Ashokan pillars were produced in
gold, iron and bronze.

Belect the correct answer using the code given

below

(el 1onky
ihi  2only
icd 2 3and4anly
idi 4only

Which one of the following i= the largest
component of the soil svstem ?

(2} Living organisms

{b}  Mineral matters

(]  Soil solution

{(d} Sotl organic matter

Which of the following 15fare the objectiveis)
of the Rashtriva Uchchatar Shiksha Abhiyan
(RLIBA)?

1. It ereatez an enabling atmosphers in
the higher educational institutions and
ensures capacity building at all levels of
employment.

2, It ensures reforms in the affilintion,
academic and examination systems,

Select the correct answer using the code given

below :

{al 1only

b} 2 only

{e) Bothland2

{dy Neither 1 nor 2
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18. Which one of the following pairs of glaciers | 16.
and locations is not correctly matched 7
(a) NubraValley — Jammun and
Glacier Kashmir
(bY Milam Glacier — Uttarakhaind
ie} Bhaga Valley — Himachal Pradesh
Glocier
idy Zemu Glacter — Arunachal Pradesh
14. Which one among the following statements is
not correct 7
ia} Johannes Kepler proved that the path of
each planet around the Sun is elliptical
with the Sun at its focus. K
(b} - The first sucoessful attempt to estahlizh
the size of the Earth iz credited to
Eratosthenes
(el The first Greek to profesa a
Sun-centred or Heliocentric Universe
wag Sir Isanc Newton,
idl  The famous astronomical book Almagest
wag-compiled by Ptolamy,
15. Match List I with List Il and select the correct
answer uging the code given below the lists
List I List IT
(Place) (Indusiry) 18.
A, Kanpur 1. Silk
B, Sualkochi 2. Cotton
C.  Korba 3. Copper
D. RKhetri 4, Aluminium
Code ;
A B C D
(1) 2 1 4 3
2y =2 4 1 8
3y 3 4 1 2
(4) a 1 4 2
LSP-U-FTS [(B-A)

Which of the following items 1s/are associated
with the mulberry plant ?

1L, Sk

2 Cocoon

4,  Pashminsa
4,  Hemp

Select the correct answer using the code given
below :

fal 1 and2only
(b} 1,2 and 3 only
el 1and4onky
(dy 2only

Which of the following are products of Agro
Bazed Industry 7

1. Silk yarn

F Cotton yarn

4.  Palyfibre yam

4, Polyester varn

Belect the sorrert answer using the code given
below

(a} 1, 2and 3 only
ib} 1anddonly
{e) 3 andd4only
{d} 1and?2only

Which of the following cities are associmted
with ship building ?

p Antwerp
2. Trieste

3. Minsk

4. Hamburg

Select the correct answer using the code given
bl

{a} 1,2 and4only
(bl 1and 2Zonly

() 2,3 and 4 only
fdl 1,3 and 4 only
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19. Which one of the following countries is known | 24,

a3 the “Land of a Thousand Lakes™ 7

{a} Denmark
ib} Finland
(el  The Netherlands
(d} Poland
20. The Central Potato Research Inetitute is
located at
{a) Almora o
(b} Shimla
(e} Noida

{d} Murshidabad

21. Eingdom Monera includes
ta) Euglencids and Protozoans
(b} Archaebacteria and Eubacteria

iz} Fungi and Phyoomyestes ag.

(d) Basidiomycetes and Deuteromycates

Binomial nomenclature means

{n} Bislogical names are generally in Latin
and written in italics, The first word is
the genus and the second word is the

EPECIng,

(b) Biological names are generally taken
from father and mother,

(¢} Biological name originates from order
and genus,

(dl Biological name originates from phylum
and genus,

23. In dialysiz for kidney failure patients, the
dialysing fluid is iso-osmotic to

{al Blood
bl Urine
ey Water
id] Body fuid
LSP-LI-FTS (8=A)

Young children with wvitamin D deficiency
have trouble in absorbing which of the
following minerals ?

{a] Calciom and Phosphorus
{b) Iromand Sodium
tc)  Bodium and Potassiom

id) Zine and Iron

The X-chromosome linked colowr blindness
affects the ahility to detect the difference
between which of the following lights ?

fal  Green light and red Light

by  Yellow light and blue Hght

(ed  Bluelight and violet light

(d)  Yellow light and red light

Which of the following statements aboof &

body under equilibrium is'are correct ?

1. HNo forces are acting.

2 A number of parallel forces may be
acting,

3. The law of moments must apply.

Select the correct answer using the code given
bebaw

(a} 1,2and3
(b} 2 and 38 only
{e}  1and3 only
(d}  2eonly

Which one of the following determines the
direction of induced current ?

fa) Fleming's left hand rule
ik} Fleming's right hand rule
(e} Feynman's left hand rule
(d} Right hand thumb rals
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28. Which one of the following statements about

the Principle of Calorimetry is correct 7

ta) Itis always valid.

ib) It iz walid when temperalure is
conetant.

i} It i valid only when there is no change
of state.

(d} It is walid only under equilibrium

Which of the following statements regarding
temperature of an object in Kelvin scale is/are
correct ?

1. It can be a negative, zero or positive

quantity,

2. It ean either be & negative or a positive
quantity,

3. It can never be negative.

4. It ean be a positive definite quantity.

Select the correct answer using the code given
below :

fa)l 1 and2 only
(b}  Zand4 only
g} 3 and4 only
(dd 4 only

Consider the following atatement

“When a body is in equilibrium, the sum of
the clockwise moments about any point equals
the sum of the anticlockwise moments about
the same paint.”

Which one of the following laws is deseribed

in the above statement 7
(a} Law of motion

(b} Law of moments
{e}  Law of momentum
{d}  Law of magnetizm

a1.

33.

(10=A)

An acld solution of pH egual to three is
gradually diluted with water. A= a regult of
this dilution, the pH of the solution will

(a) reach near to zero,

(b}  reach near to fourteen.
(e}  reach near to seven.
(d} remain unchanged.

Which one of the following gases is nof
responsible for global warming ?

ta)  Water vapour

ibl  Chlorofluorocarbons
ieh  Nitrogen

id} Methans

Which one of the following is an eco-friendly
salvent 7 E

{a]  Laguid ammonia

ikl Carbon disulphide

(e}  Benzene

(d) ‘Water

Graphite is a good conductor of electricity. It
iz because of ita

fa} linear structure

(b} tetrahedral structure

{e)  triangular planar strocture
(d}  hexagonal multilayer strocture

Which one of the following elementa has the
oxidation state as <7 7

(g} Nitrogen

(b}  Phosphorus
() Manganese
(d} Magnegium

What is the greatest number less than 1000
which when divided respectively by 5, 7 and 9
leaves the remainders 3, 5 and 7 respectively 7

tal 43
ihi 963
fc) 953
idy 988
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aT.

Conegider the following sequence :
BT 10, 16, 22, 88, 46,
Which one of the alternatives will come at the

end of the above sequence 7
fa) 61,70
(b 63, 82
ey 65,85
idd 58,71

While coming down on an escalator of a
station, when a man walks down twenty-six
steps of the staircase, he requires thirty
seconds to reach the bottormn. However, if he
steps down thirty-four steps, it takes eighteen
seconds to reach the bottom, How many steps

are there in the escalator 7
{a) 42
{b} 44
fcl 48
(dy 48

A dog wanis to catch & ecat that is
twenty-seven steps shead of him. The cab
takes eight steps to every five steps taken by
the dog. Two steps of the dog are equal to five
steps of the cat. How many ateps of the dog
will be required to catch the cat ?

(a} 28
(bl 30
ey 48
€ W |

If the first day of & year (other than the leap
vear] was Friday, then which one of the
following was the last day of that year ?

{a) Monday
ib]  Friday
ic) Saturday
id)]  Sonday
LSP-U-FTS

41.

42.

(12-A)

The difference of squares of two consecutive
odd numbers is always

(a) divisible by 8

(b}  divisible by 3

(e}  divisible by 16

(d}  None of the above

In a bag, there are notes of ¥ 10, ¥ 20 and
¥ 50 in the ratio of 1 : 2 : 8. If the total money
is ¥ 1,000, how many notes of ¥ 10 are
thers T

fa} &

by 10
e} 15
(dy 30

How many times in a day are the hour hand
and the minute hand of a wall clock straight
(ie., the angle between them is 18073 7

(my 20

(h}y 21
(e] 22
id}y 24

Delhi is bigger than Pune, Kanpur ia bigger
than Kaipur. Jhansi is not as big as Pune, but
15 bigger than Kanpur. Which one of the
following is the smallest city 7

(a) Delhi
(b} Pune
{c) Kanpur
{d} Raipur

Find the odd one out of the following items :
EF22, JK42, GH24, VW0, LI38

(a} EF22
(b} GH24
(e} 1J38

) VW80




37.

40,
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Freferfian s o fram fifoe
5,7,10,156,22 .33, 48, __, __

T e & sin d Frefafes @ @ R
famRea s ¢

(n) 61,79

(b 63,82

{c} BR, 85

{d} 59,71

vF =yE o waiem o 8 ofifgst saa
awE, 79 uF =it 26 g (9§ o
¥, @ @ ae W owdEt d o0 d%vE W e
o & | 9wy, ww aw a4 vEEm (dE) e
AT R, 9 3 T AR 4 18 HwvE T
£ | e o) | formd orEm § 2

(a} 42

(b) 44

e} 46

(d) 48

U Tl UF fawell B o = B, S smd
27 FE0 S # | 7 F WedS 5 Han = 8,
A faeell 8 Fgm =odt & | 9 % 2 v fawef
% 5 weH & qua § | faee o owEe & fom
F 1 o wam sen g e

(a) 28

by 30

(c) 48

(dl 75

afz fad o @ (wfims) =f = SEw =
qeen féa gpram @, @ Frsfafes 3§ @ 9
fa 35 = & anfight 7 = 7

(a) HEER

(b} ¥ERET
i) iEm
(dy i

(13-A)

. E wArE faem wemed & At s s B

GG
{a) 8H WY

b) 3H WG
ic) 163 Wr=g

d) T9H® § A Fd AR

A o, roMmrsoF AT 1218
# 39 A £ | af w= 99 T 1,000 B, @
UL Ao hirh R

(a) 5

by 10

e} 15

(d) 30

ww Fan w1 92 s e geai o
# et wm i) (g ) At B (anfy o
a9 180° &1 Hi B ?

() 20

(by 21

fch 22

d) 24

feeeht, g9t & w1 B, S, vAQ R W= R
wight, ot famn = ot o, S FEm S e
| Frferfiae & & s o wed S # 2
(a) fEeh

(k) ga

fe) EREHL

(d} T

EFiZ, JR42, GH24, VW90, 1J38
{a} EF2Z
(h) GH24
fe} IJ38
d) VWoao
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Find the miszing letter.

T I O ) [ 5
2 3 4 4 2 1

lpdElrlrylslx]=r

(@) A

) D

&) ©

@ N

25 wrnters, 20 doctors, 18 dentists and
12 bank employees spent altogether T 1,330
in o hotel. However, it was found that
5 writers spent as much as 4 doctors, that
12 doctors spent as much as 9 dentists, and
that 6 dentists spent as much as 8 bank
empoyess, Oubt of the four professional
groups, which group spent the maximum
amount ?

(a) Bank employess

(b} Dentista
(e} Doctors
{d}y Writers

Which among the following countries in nof a
founder member of Shanghai Cooperation
Crganization T

ta) Kazakhstan

(bl Eyrgyzstan
fc)  Tajikistan
(d} Afghanistan

Which one among the following is responsihle
for the command, eontrol and operational
decisions of nuclear weapons in India ¥

i} Nuclear Commizsion of Indis

(b}  Nuclear Command Authority

{e}  The Ministry of Defence

{d} The Cabinet Committes on Security

al.

{14-A)

Which one of the following statements about

the Directive Principles of State Policy is not

correct 7

{al The Directive Principles ¢onstitute
certain ideals for social justice,

(bl The Directive Principles are not
confined to Part IV of the Constitution
of India.

i) The sanction behind the Directive
Principles is legal,
(dl It aims to Fifil the ohjective of

socio-economic justive,

In December 2017, India signed a financing
apreement for an [HRD lean of TSI 250
million (equivalent} for which one of the
following projects ¥

fal  DOU-GEY
ikl  DISHA
il SANKALP

idi EWACHHGEAM

Which of the following statements isfare
correct about the UN Human Rights Counecil 7
1. It was established in the vear 2006.

2, The Council iz made up of 47 Member
States,

3. The United States of America was
elected to the 1IN Human Rights
Coungil in the year 2008,

4. Members of the Counecil serve for a
period of five years,

Select the correct answer using the code given

below :

fal 1and?2anly

ib)  2omly

{e) 3 and 4 only

td} 1,2 and 3 only

“One Vision, One Identity, One Commumnity™
ia the motto of

(e} SAARC
(b ASEAN
g} SCO
dy OAS




47.

fal A
by I}
ey O
idr M

oF S, 20 B, 18 3A-ffEms o 129
= 3 v gem d TeEW ® 1330 =W
fign | i@t == orm v T 5 a9 g 2T
& wEm, 12 2l 3 0 Al $
#in ¢ =n-fafrmasi 3 & 9% FiiE 5 = w90
wd feu | 7 wn e g 8 B e g A
Al ou == o 2

{a) &= FEl

b =n-Fafeas

fc) BiEET

(d}

48, Trofafias § & s 29, o gAm g4
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1 HEHE 6o JE R Y
{a) FATEETA
by Tt
() CUEIEToIC
(d) SAETE

wia # FifiEbm sl & FEE, FeEm
gt faofat &% fere, Frefefan © =
Fortam & ¢

(a) WA o1 ATGERE W&

by iR i

() TEI HATEE

(d) T = Hfiaee wfuf

10
FH

50. =g # Ay & FEvw Tm F fawm G

5l

[15=A])

Frfafias 8 4 ¥9m == 59 777 2 0

) TeTes o, amifas = & fom fivs
TET FetiE w0 # |

iy TEws 7w, wiE % gfEuae & aey O
Bt Hiftm T 2 |

(¢) TEwE w= % wh 4 (98) Seigh
WA B

id) =R e wwfasaides A oI
T Q0 R

fraferfiga § 4 S9-di vfiee & foo, e
2017 ¥, WAG 9 L.UE. TR (USD) 250 fafEa
(AWgea) #F IBRD 9 & fom v fadfgr &
W wEE f 7

(a] DDU-GEY

(bl DISHA

icl SANEKALP

(d) SWACHHGRAM

waw g F umE wiiemr ofeg & AW A,

faferfian § @ sR-a1E F67 50 3 2

1. 58 ad 2006 H wfe fism mn o |

2. Im ity 47 mEw AN g wh R

3. =y e e W wd 2006 § UN 6
. witwn ofteg & o Faffaa fen
)
ufteg % weedt &1 S o3 A R

Fﬁ%ﬁﬂlﬂf{ﬁlmﬁ‘lﬂﬂﬂﬂmﬁﬁtl

(a) HEw 1 3H 2

(hy et 2

(e) “haer 3 Al 4

) wEe 1,23 3

" g, U TR, US A fee s
g # 7

{a) SAARC

bl ASEAN

fel BCO

(d) DAS
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Which one of the following is mod correct
regarding India's position in  Regional
Organizations/Inatitutions 7

{a} Shanghai Cooperation
(BC0) = Founder Member
Agia-Pacific  Economic  Cooperation
{APEC) = Observer Member

ic)  East Asia Summit (EAS) — Member

(dl Asian Infrastructure Investment Banlk
(AIIB) = Founder Member

Organization

ib]

Which one of the following Articles of the
Constitution of India is related to the Address
of the President at the commencement of the
first session of the Parliament each vear ?

ta)  Article 84
(b)  Article 85
el Article 87
(d}  Article 97

Which one of the following Amendments to
the Conatitution of Indin made it mandatory
to conduct periodic elections to the Local
Government Bodies 7

iy e
(b) 7grd
(e} g4th
) gan

Which one of the following Committees has
recommended the inclusion of Fundamental
Duties in the Constitution under the 42°¢
Amendment Act of 1976 7

fal
(b
ed WV, Giri Commites

Jagjivan Ham Committes

Bwaran Singh Committee

idy  B.D. Jatti Committes

(16-4A)

Who among the following certifies & bill as a
Money Bill ?

The Chairman of the Council of States
The Speaker of the House of the People

{al
bl
(e} The Finance Minister

id)  The Pregident

Which of the following statements about the
Writ of Mandamus isfare correct 7

1. Mandamus liez against the
Government,

2 Mandamus lies againat inferior Courts
and Tribunals.

3, Mandamus lies against individuala in
cases where & public duty is imposed on
them.

Select the correct answer using the code given
Esilaar :

ial 1,2and3
{hl 2 and3 only
fe) 1and3only
id) 1 only

Which one of the following Articles of the
Constitution of India provides that the State
shall net deny to any person equality before
the law or the equal protection of the laws
within the territory of India 7

{a) Article 14
(b Article 12
(cd  Article 13

tdi  Article 16
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Fafarfian & & =9 v ot 787 & 7

(a) AT WEAT WS (SCO) - AT H55

(b) ufirEnuee snidE WA (APEC) - Y55
TEE

(¢} d v TivEt HEEE (BAS) - TEE

idy vfirmd swEeew fEw #s (AauB) -
HEEE qEH

T T GO UYW §3 % YW § EH 9
menfd & wftwmm @, WA w ERNE W
Frerfafia 8 4 A sgede daiE # 7

(a) T B4

() ¥F=S3 85

fel Hﬁ&?

(d) W= 97

urA # whewm & Feafafam 4 9 wRa
Ao, wEE wEe Bt w Faefee
faatea (gAm) waan, s s m g

(a) 7280

(by 73af

(e} G4al

(dy 6aEl

475 warea wafEm, 1976 % 3= A@faE 4
qe waeal w1 gwEy, Fefafas o6 B
wffa i Tegf o fien o

(a) TTEEA TH HOEE

(b) v flw wfE

iey -t firfe \futa

id) HE, w+ wEE

[(17-A)

58, fifarfiEs & o = v= fdws =t a7 g

o w9 | ywiiE e A7
{a) T=a w1 W wamf
{b) I WE W S
e)  Tom wEl
(dy Tl

59, wmew fz % o 4, Fefafes 4 4 w9ma

o wa AR e

1. T N & sy B R

2. wmew Fowm (wEn) aweE o dm
St o TR B R

g urorew =fwAl & fasg 29 vl 6 a R
el 3 W UF o ween whauae
T

# fam m w1 v = A I gh

a) 1,233

(b} ThaA 2 3 3
{cl “haw 13 3
id) wEE 1

win % dfium w fofafEs 4 % s
=iy ag WEYR W § 7 uw, W &
ey ¥ fied) =i =1 fafa & wom oo 4
a1 fafi & wmm e | afem 78 wom 2
(a) =0T 14
(b) =% 12
() =Ea 13
(d) TS 15




81. Which one of the following statements about
the judgement in the D.K. Basu v. State of
West Bengal case (Supreme Court, 1997 is
not correct ?

{al A person arrested must be made aware
of the right to have somesne informed of
his arrest or detention as soon as he is
put under arrest or is detained.

(bl It provided for compensation in the case
of displacement from land in
Government projects.

(e} The arrestee may be permitted to meet
his lawyer during interrogation, though
not throughout the interrogation.

(dl It emerged out of a Public Interest
Litigation.

82. Which of the following statements regarding
the election of the President and the Vice
President of India isfare correct 7
1.  The President of India 15 elected by an

electoral college consisting of the
Members of both the Houses of
Parliament and the clected Members of
state  Legiglative Aszsemblies and
Councils,

2. The Vice President of India 15 elected by
an electoral college consisting of the
Membera of both the Houses of
Parliament,

Select the correct answer using the code given

balowr

(a} 1only

(b} 2only

fc) PBothland?2

id} Neither 1 nor 2

63. Who among the following foothallers was
honoured with the Ballon 4°0r Award, 2017 7
(e} Lionel Messi
(b) Cristiano Ronaldo
e} HRonaldinho
id} HNeymar

LSP-U-FTS (18-

A)

The first International Conference on Sports
Medicine and Sports Sciences (SAICON 2017)
was held recently in

ta) Kbolkata

(b Chennai
(¢} Hyderabad
(di New Delhi

Which of the following isfare listed as
Intangible Cultural Heritage of Humanity by
UNESCO ?

1. Yoga
2 Nawroaz
3. Humbh Mela

Select the correct answer using the code given
helow =

fa) 1,2and3
ib) 1 and 2 only
ic} 2and 3 only
idy 1 enly

In December 2017, India was admitted as a
member of Wassenaar Arrangement, an elite
arms export control regime, similar to NSG
and MTCR. Which one of the following is not
a member of the Wassenaar Arrangement ?
{a] USA

(bl  Anpstralia
{c) China
id) Italy

Which one of the following is the theme of

International Anti-Corruption Day, 2017 7

(a) United against corrupkion for
development, peace and security

(b} Break the corruption chain

(e}  Zero corruption — 100% development

{d} Corruption —your MO counts
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(by EEH WTEE] i 6 oqm @ e

(e) firgamn =ufes ® (@A & A, T0H 3
& ol g (viowwE) & e,
S et @ fre) €1 sl wEE
CEi

(d) =R U S ke & P

e % megfd qw Igeeta & Fatee & gEe

4, Fafafum 4 9 $F-mE w99 56 4 2

1, WA % TeulE w1 fatem @ Gatawm
a1 fem am # foaed |0 % 46 Gl
* Hom Aw Ued s fEum gwe e
ofresi & Faifem oz mins vt £

2. WRA % IWIEAE W FETE, q69E & g
medl % weEl ® e e gE
frafersemn g fomm = # 0

(a) HEE 1

{b) e 2

&) 13 23l

) AAMLAM2

veara w1, frafafes 4 8 wha fEeE
“SE d'wRT g 2017 B wonfE
T &= 7

¥: 1] (GEICG R

by Frfesamn e

i) fF‘Iﬂﬁ

) FEm

g4, @ Fafwen o de fgA W gEen sl

67,

(189-A)

FEEA (SAICON 2017), ¥ # H, HE #9
EEFIT ?

fa) TRICTRTAT

(b) =E

(1] ET:IF-’E

idy =% faweh

FER! (UNESCO) 3 wHam 1 A ARFias
frrem % v 4 Fefafas 4 @ FRafes
geffag fem 2 7

1. =M

2. (FEE)

4. e b

= fan g2 W W A I 9f
{a) 1,23 a

(b} == 13 2

(e} Em 23T a

d) FAEE 1

NSG 79 MTCR % Fwew, R smyy frafa
T s “amEn st & s g
= § wia w fmen, 2007 § afefam e
ey o | e 4 @ w9 “awan st
=1 HaEy T B 7

() W T AU (USA)

b s
ey ==

(d) geelt

s wemR i fEmm, 2017 = R

FeffEad s sRm 2 2

() TEwm, miE =h gan #g w=rEn %
fag _

() WSTER e (HE) H A =

(e) I WEREN — 100% fawE

(d) werET — A e (f) wEe
gt #
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Who among the following was chosen for the | 52,
literary wward Vyas Samman for the year
20177

tal  Surnder Verma

(b  Mamin Kalia

(¢} Sunita Jain

(dl  Kamal Kishore Goenka

According to the National Trachoma Survey

Report (2014 — 175, India is now free from

infective trachoma. Trachoma is a chronic

infective disease of 73.

{a} Nose

{b} Heart

{e) Ear

d} Eye

Who among the following is the winner of

Mobel Peace Prize for the year 2017 7

(a) Juan Manuel SBantos

(b}  International Campaign to Abelish
Muglear Weapons (ICAN)

(e}  Organization for the Prohibition of
Chemical Weapons

{d) Tunisian Mational Dialogue Guartet 74

Which of the following statements about

LaQshya — a Labour Room Quality

Improvement Initiative, launched recently by

the Ministry of Health and Family Welfare,

isfare correct ¥

1.  The initiative plans to conduct quality
eertification of labour rooms and also to
incentivize facilities achieving the
targets outlined,

2. The goal of this initiative is to reduce
preventable maternal and  new-born
mortality, morbidity and stillhirths
associated with the care arpund delivery 5.
in Laboar Reom and Maternity OT,

Select the correct answer using the code given

balow :

(a) 1omly

(b) 2 only

(e} Both 1 and 2

(dl  Neither 1 nor 2

(20-A)

The Counter Insurgency and Jungle Warfare
School of the Indian Army is located at

ia} Wellington
(b} Dehradun
{c}  Vairengte
id}  Gulmarg
Submarine INS Halvari  which was

commissioned into the Indian Navy in
December 2017 was built with technological
collaberation with

()} Russia
by Japan
€l Franco
d) USA

Sri Lanka has recently handed over its
southern strategic port Hambantota on &
f%-year lease to which one of the following
countries 7

ta}  India

(by China
et Pakistan
dr TUSA

Heena Sidha 15 associated with which ane of
the following sports 7

ia) Badminton
th)  Wrestling
ey Shooting
idl  Archery
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ad 2017 % wifem gen T wwE % f,
Fraferfian 4 2 e 571 men o 2

{a) ’ﬂiﬁiﬂﬁ

(b) T Hifern

(e} FHET A
(d) w0 FRER T

e g mEam i (2014 - 17) % FEEN,
WA WE HEE ¢ @ H B | g,
v drdaiern dwme m B, fiem o @ gafas
2

(a) AR

by ®E4

(c} &M

idy wfg

a8 2017 F A= i gEen W faEm

s iiien R el

i) HHE Hgwm #5W

(b) e e 7 e e a0
(ICAN)

(e) SAfitmgdsE w7 ikl e
ELT ]

(dy s Smee sEaein w=dE

ey vy gfEn e A g B B o
aew W W - A w PEW guR
ugdt - WeY, & & O, FofafEm 9 4
FHAE e T B 7

1. 4 yEe, wefd wEl s e e
gaferd w6 on wE @ Hmiee
(wrefm) wEt st o %A R gfaa
w1 FerEn 24 $f g v 2 )

2, T TES w1 w4, WHH Teawsa (0T) i
it w5 4 vga ¥ swwmaE (dee)
ZEwrE B wEfia famn @ age
T gy, sl ol ua s = o
Fm 2 |

Hra fEm o e v w e I =

ia) =Had 1

T

(e) 130T 231

() AHE L,AW 2

7o, WA 9= A9 % wfem e e Sre oad

73,

T4.

Th.

(Z1-A)

(gg) framm (wm TwE=fl o W=
Ak e ), wel o i d

(a) e
ib) SEOEA
ie) afiE
() TEE

0. UA.UR, weEd] gagedl, W1 femwn 2017 §
A A 4 wmim f oW 2, s
Trefieha sram a Aim S # e

{al ®H
(b) HTTH
{e) WIE
(d) T T i (USA)

e #OH, oft s 4 o omEe B s
aftfi dzome, wEEEE w® oo @l & fem g2
w, fefafm dd frm I w R & ¢

fa) WHA

(by =M

ie) TTiEHEAH

(d) THE T AHEE (USA)

fn g, Frofafas d @ fem @m & o=t
g

(a) ===

(b) Tl
() Tqfem (T

T ()

(e}




PART B

PROFESSIONAL SKILLS
7. Which ene of the following is in accordance

T8. The Central Industrial Security Force was
comstitubed

{a} under an Act of the Parliament,

(b} as per a resolution of the Cabinet.

fel  as per an executive order izsued by the
Ministry of Defence.

{d} = as per an executive order issued by the
Ministry of Home Affairs.

79: The Director General of the Central

Industrial Serurity Foree 15 appointed by the

(2} Bureau of Public Enterprizes

(b}  National Security Council Secretariat

(g} Central Government

{d} Cabinet Commities on Security

TB. Which of the following fall's within the scope
of technical consultancy services rendered by
the Central Industrial Security Foroe ?

(a) Btudying the indusirial security and fire
protection  related  problems  and
suggesting appropriate solutions

ib) Preparing dizaster management and
contingency plan  and  conducting
rehearsala for such plans

{e) Planning and designing of
communication networks and
preparation of related operations
instruetions

idl  All of the sbove

L5P-U-FTS

B1.

(22 -A)

with the procedure preascribed in the Central

Industrial Security Force Act, 1968 in relation

to an arrest made by any member of the

Foree 7

in} Keep the arrested person in custody
for not more than 48 hours for
interrogation and release himmer if,
prima facie, no criminal case ia made
out against the detaines

{b} Lodge a First Information Report with
the local police if, prime facie, a
eriminal caze iz made out against the
arrested person

il Hand over the arrested person to the
Chief Secunty Officer of the industrial
establishment concerned for such action
as deemed fit

id) Hand over the arrested person to a
Police Officer or have himher taken to
the nearest police station withoot any
unnecezsary delay

For disciplinary procesdings, the supervisory
officers of the Central Industrial Security
Force are governed by which of the
following 7

{al National Security Act

{b) Central Civil Services (Conduct) Rulea

(el Rulez applicable to the officers of
the Central Government of the

corresponding clasa
id} Indian Penal Code

A person who for any reason ceases to be a

member of the Central Industrial Security

Force does not have to surrender which one of

the following items ¥

(o} The certificate of appointment

(b}  Armsissued to himMher

(g} Clothing issued to ham'her while in
sErvice

id} Any appreciation letter issued to him
during his service
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gt Ftvm
79. F=2E st grm =9 & e aze g A

76, FRE AT g aw e fiem e
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(b) UEMUER % HEET & WA |
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&1 HEE 2

T T Ay sum-Falr g T

o A i dranai & e qEiem

HFTEA O
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B1.

(23-A)
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a8 w9 & T sifimem & e wn Feg
=t % g, v e st
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B2, Which one of the following iz nof correct in

relation to the penalty for neglect of duty
preacribed in the Central Industrial Security
Foree Act ?

ta) A member of the Force convicted of
neglect of duty cannot be punished with

imprisenment.

ib) The offence of neglect of duty
is  cognizable and non-bailable,
notwithstanding anything contained in
the Code of Criminal Procedure, 1973,

(e} The Central Government may invest
the Commandant with the powers of &
Magiatrate for trying the offence of
neglect of duty,

{d} There is no abaolute bar on an offence
punishable under the Act to be tried by
an ordinary criminal court,

If, during the probation period of 2 member of

the Central Industrial Security Force, the

appointing authority is of the opinion that the
member i& not fit for permanent appointment,
which one of the following actions earnof be

taken by the appointing authority 7

fa} The appointing authority —may
terminate his'her services after giving
one month's notice.

(b} The appointing aothority may
terminate  hisher gmervices  with
immediate effect but after giving three
months' pay in lieu of the aforesaid

i notice.

i)  The appointing authority may revert
him/her to the rank from which hefshe
was promoted,

idi The appointing  authority may
repatriate him/her to histher parent
department, as the cazs may be,

(24 -A)

Which one of the following ia net correct in

relation to an order of suspension of an

gorelled member of the Central Industrial

Security Force 7

ia} An enrolled member of the Force is
deemed to have been placed under
puspension by an  order of the
appointing authority with effect from
the date of detention if hefhe is
detained in custody, whether on &
ecriminal charge or otherwise, for a
period exceeding 48 hours.

() An order of suspension made or desmed
to have been made continues to remain
in force until it i modified or revolked
by the authority competent to do so0.

(¢} An order of suspension made or desmed
to have been made can be modified or
revoked at any time by any authority to
which the authority who had issued the
order of suspension is subordinate.

{id} An enrolied member cannot be lept
under suspension for more than

180 days.
Which one of the following is mod one of the
miner  penalties prescribed in the Central
Industrial Security Force Ruoles, 2001 7
ta)  Withholding of promotion
(b}  Removal from service which shall not be
a disqualification for future employment
under the Government
(¢}  Withholding of increment of pay
(d) Fine of an amount not exceeding seven
days' pay
O which one of the following grounds can
maonetary rewards nod be granted as per the
provigions of the Central Industrial Security
Foree Rules, 2001 7

{a)  Arrest of a criminal
(bl Making exceptionally good enquiries
(el Doing general good work

(dl Dhoing extra hard work in connection
with the protection, safeguard and
security of an industrial undertaking
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B7. What intervention plan is activated by a | 91.
competent authoerity to counter the possible
conAequences - arising from  communcated
threat or discovery of an explosive device at
an airport ?

() High alert
ibl  Bomb threat contingency plan
(¢}  Counter terror contingency plan

(d) Hed alert

BB. While establishing an observation post,
geveral precautions are taken. Which one of | B2,
the following ig moed one of them ?

ial Helect a place from where you can see
everything without being seen yourzelf

ikl The ohservation post should be lower
than the area that is to be ohserved

f¢d  The observation post should be at a
point where it can be reached sasily and
from where you can move out guickly

id} The obasrvation post should be far from
the skyvline

889, Which of the following isfare the duty/duties
of the ROP?

{a]l Toaecure the road route from ambush

ihl o secure the road route from land
mines and [EDs

tel  To keep the roate secure till the convoy
has passed completely
idy  All of the above

f), Which one of the following ie not necessary

for perimeter security !
{a) CCTV

(bl Water moat

{c)  Alarm svstem
{d} Lighting

LSP-U-FTS [28-—4)

Which one of the following should not be used
as first aid to stop bleeding of the injured
VIip?

{nl  Direct pressure
bl Elevation used with Direct Pressure
i) Pressure handages

{dl Inject Morphine to ease pain
immediately

You have to establish a CISF post in one of
the mines areas where the CISF is deployed,
Several things have to be kept in mind in the
process, Which one of the following is mof one
of them 7

{n) The post should be on dominating
ground from where there is a good line
of fire

(b} The post should be at a place where
communicntion and road link is good

{el  The post should be at a place where
water 15 available close by

id} The post should be visible to all

As a commandant, which of the following
hashave to be told to the convoy which is
going from one area to another ?

(a)  Brief the men about the condition of the
rogd

ik} If ROP has been deployed, them the
gomvoy  in-charge shouold be briefed
about its position

gl Possible ambush sites and dangerous
areas ghould be identified

idy Al of the above
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Which one of the following erganizations has

been designated as the Counter Hijack Task
Foree by the Government of India ¥

{ah
(b}
()

td}

BCAS
CISF
NSG
SPG

895. What is a fire door 7

(&)

A door designated for entry of firemen
into a building for fire-fighting and
evaguatisn

ib)  Rear door of a fire tender for quick
debussing by firemen
ic) A highly fire resistant door system that
provides a degree of fire protection
when cloged
{d} None of the above
86. What is the full form of X-BIS ?
(a) X-ray Baggage Inspection System
(b}  X-ray Baggage Imaging System
e}  X-ray Based Imaging System
idl  X-ray Baggage Identifying System
97. Access control of the Aircraft is the
responsibility of
{al ASG
ibl  Local police
{el  Adrcraft operator
{d}  Airport eecurity
LSP-U-FTS

g8, Which one of the following i3 nod a component
of bomb detection and disposal equipment 7

10,

101,

(28-A)

ial
(k)
L
(d}

Bomb blanket
Electronic stethoscope
Bomb dispossl suit
Handheld weapon

Which of the following agencies can carry out
search of the aircraft during specific bomb

threat call ¥

(a} Airlines security £ Airlines engineers
only

ib}  Adirlines seourity / Airlines engineer /
BDDE Y ASG f DhGCA

(e} Airlines security [ Airlines engineer f
BDDS ! Dog squad

id)  Airlines security / Airlines engineer /

BIDDE anly

Who among the following is responsible for
pre-flight anti-sabotage check of an aircraft ?

fa)
(b
fel
{d)

ABG

Adrlines security
BDDS

Crew of the airlines

Who among the following ie responsible for

guarding the aireraft hangar T
fa}  Alrport security

(b} Airport operator

(g} Ajreraft operator

id) ASBG
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102. First Aid Fire Extinguishers are known as
ia) Fire tenders
(bl Foam tenders
ie)  Portable fire extinguishers
{d} DCPtenders
108. Which of the following are the main
companents of an [ED ?
(a} Weapons, explosives, dangerous
articles, dangeroes substances
ib} lgnition, incendiary material
mechanism
(¢} Explosives, switch mechanism and | 197
battery / power source
(d) Explosives, detonator, switch
mechanism and battery [ power source
104. Which one of the following is the first duty of
a police officer at a scene of crime 7
ta) To proserve the scene of crime
(bl  Photograph the scene of crime
te)  Start collecting physical evidencs
(dl Make & sketch of the scene of crime 108,
105. When was the CISF inducted at airports ?
(a) 1998
(b} 2001
{c) 2002
(dy 2000
LSP-U-FTS {30-A)

108. Any book or newspaper or document ean be

forfeited and seized by an order of the State
Government under Section 25 of the Code of
Criminal Procedure, 1973, if the same
eontaing any matter, the publication of which

is punishable under Sections

(a} 1244, 122, 292 and 354A of the IPC

ihy  124A, 153A, 1538, 292, 293 and 28954 of
the IPC

e} 1244, 1538, 509, 376 and 377 of the [PC

(dy  124A 153A 1538, 354 and 509 of the

IPC

If, during dispersal of an unlawlul azsembly,
an army officer, commanded to disperse it,
exceeds his power which had resulted into the
death of four women and three children, that
army officer can be prosecuted with the

sanction of
ta)  his Commanding Officer
(b)  the District Magistrate

(el the Central Government

{dl  the concerned State Government

‘A" killg the hen of “B'. The value of the hen is
above two hundred Afty rupees. What 15 the
offence committed by "A" Y

(al Nooffence under the [PC

ih}  Mischief under Section 428 of the IPC
i) Misappropriation of property

id) Trespags of the property of ‘B’
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111.

In which one of the following cases is the
offence of criminal breach of trust not
committed T

{a) ‘A’ the delivery boy of ‘B’ ('B" iz an
online retailer), does not deliver the

package of mobile phone and uvses it

himnzelf

ib} A postman does not deliver the money
order and misappropriates the money

{¢} ‘A’ finds a ring near the shop of a
jeweller and gives it to his wife

(di A’ an emploves of the Emplovess” State

Insurance Corporation, does not deposit
the contribution of an emplovee and
misappropriates it

The guestion iz whether ‘A" stole the Laptop of
B, Which one of the following is not relevant
as per the Indian Evidence Act, 1872 7

{a) ‘A'knows how to operate the Laptop

iby ‘A’ sold the same Laptop to his friend

(e} Only "A' was authorized to use his
Laptop by using his finger impressions

(dl ‘A’ had the key of 'B's room

How much information received from an
accused may be proved when the accused is in
police custody ?

ta)l Al relevant information

(bl  His confession to commit the crime
fe]  Information distinctly relates to the
discovery of something
{d} Mone, because he is in police custody
LSP-U-FTS

112.

113.

114.

(32-A)

As per the provisions of the Indian Evidence
Act, 1RT2, if a contract 18 contained in several
letters, what must be proved ?

ia) Any one letter in which the contract is

contained must be proved

ib)  Any letter which has the conclusion of
the letter must be proved

() All the letters in which the contract is
contained must be proved

id] Only that letter of contract must be

proved which has the disputed portion

‘A' iz charged with travelling on a train
without a ticket. As per the Indian Evidence
Act, 1872, whe among the following has to
prove that he had a ticket 7

{a) 'A'has to prove it

(b} Guilt is always to be proved by the
prosecution

ic) The Court will decide it

{d) It iz proved the moment ‘A’ ia caught

without ticket

Notice with respect to any change which
affects the conditions of service applicable to
any workman in respect of any matier
specified in the IV" Schedule of the
Industrial Disputes Act, 1947, shall not be
effected within

{a) 21 days
(b} 60 days
(e} 90days
(dy 30 days
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115. Who among the following is nof an employoo

116,

117.
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pnder Section 2(F) of the Employees'
Provident Fund and Miscellaneous Provisions
Aet, 19527

(&} Any person emploved for wages in any
kind of work, manual or otherwise

ib}  Any person who gets his salary diroctly
or indirectly from the employer

(¢} Any person employed by or through a
contractor for his work

idl Any person engaged as an apprentice,

not being an apprentios engaged under
the Apprentices Act, 1961

Under the Emplovess" Provident Fund and
Miscellaneous Provisions Aet, 1952, which of
the following is the appropriate Government
for the emplovees of an establishment having
branches in more than one State ?

() The BState Government where the
dizpule has arisen

(hy  The Central Government

(¢} Asdecided by the Central Government

idl The State Government, where the head
affice of the establishment is situated

Which one of the following statements

about lavofl as stated in Chapter ¥V B of the
Industrial Disputes Act, 1947 15 nod correct 7

iml Thiz iz applicable to industrial
establishments emploving not lese than
100 workmen onm an average per
working day for the preceding
12 months.

Prior permission of the appropriate
Government or specified authority is
necessary before lavodf.

The compensation for layoff is twice the
compenaation as in Chapter V A,

ib)

]

(di If the Government does not respond
within 60 daye of receiving the
application for permizsion to layofl, the
permission shall be deemed to have
been granted,

114,

1200

(34-A)

‘A’ euts down a tree on ‘Bs land with the
intention of dishonestly taking the tree out of
"B's poasession without 'B's consent. What
offence is committed by "A' Y

in)  No offence until the tree is taken away
b}  The offence of mischiel

(e} The offence of breach of truat

id]  The offence of theft as soon as the tree

i severad

Under the Central Vigilance Commission Act,
2003, what f&¢ the maximum number of
persons constituting the Central Vigilance
Commission including the Chairperson ?

fal  Two
{b) Three
{e) Four
{d) Five

Which one of the following statements is mof
correct ?

The Industrial Tribunal constituted
under the Industrial Disputes Act, 1947,
exercises powers under the Employees’
Provident Fund and Miscellaneous
Provisions Act, 1852,

The members of the Industrial Tribunal
hold office for a maximum period of five
Years,

()

(1)

The Chairperson and members of the

Industrial Tribunal cannot hold office
after B5 vears of age.

The presiding officer of the Industrinl
Tribunal be an independent
PETEOTL

()

()

must
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I which one of the following cases had the
Supreme Court directed an authority to
provide drainage syatem for removal of n
public nuisance under Section 133 of the Code
of Criminal Procedure, 1973 7

{al  M.C. Mehtav. Union of India, 1988

(h)y Municipal Council, Ratlam . Bhn
Vardhichand & Others, 1880

{e} M.C. Mehta v. Eamal Math, 2000

(d} Indian Council for Enviro-Legal Action
v, Union of India, 1986

Under the Indiann Evidence Act, 1872, a
witness summoned by a Court of Law to
produce a document which is in his possession
has to do which one of the following ?

(a) Shall bring it to the
notwithstanding any abjection

ih)  May refuse to bring it in the interest of
national security

(e} May refuse to bring it on the ground of
eonfidentiality

idi Shall produce before the Court only if
there is no ohjection

Comrt

*A' was at work with a hatchet with Fall
precautions. While working, the head of the
hatchet flies off and kills & man who was
gtanding nearby, ‘A’ has committed no crime
under which one of the following Sections of
the Indian Penal Code, 1860 7

{a} Section 80

{b} Section 81
(e} Bection BG
{d) SBection B9

124.

125,

Which one of the following offences under the
Indian Penal Code, 1860, is cognizable and
non-bailable 7

{a) Sedition
(bl  Joining an unlawiol assembly armed
with a gun

i) Rioting with a deadly weapon
{d} Bribery

‘A’ with the imtention of murdering ‘F,
ingtigates 'B°, a child under seven wears of
age, to do an act which causes “£'s death. ‘B’ in
consequence of the abetment, does the act in
the absence of ‘A" and thereby causes 'E's
death, Here ‘A’ iz lisble under which one of
the following Sections of the Indian Penal
Code, 1880 7

a) Section 109
(b} Section 115
(e} Section 120
(d) Section 302

128, The term “workman' onder the Workmen's

127.

{ 36— A)

Compensatien Act, 1923, includes who among

the following persons 7

fa}) A person whose employment is of a
casnal nature

ib} A person employed as a personal cook
by the Managing Director of a company

e} A person employed for repairing an
article in any premises whersin
15 persons are employed

(dy  The Captain of an aircraft

The Code of Criminal Procedure, 1973, does

not expressly provide for which one of the
following ?

() Identification of an arrested person
(b Detention of an arrested person beyond

24 hours with an order of the
Magistrats

(e}  Health of an arrested person

id] Bail to a person arrested under

Preventive Detention Law
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Which one of the following offences under
the Indien Penal Code, 1880,
compoundable by the parties in terms of
Section 320(1) of the Code of Criminal
Procedure, 1973 7

15 nof

{a} Voluntarily causing grievous hurt on

grave and sudden provocation

Adultery
Cheating

(b}
]

id] Voluntarily causing grievous huart and

MISCATTIAEE

The process by which a third party persuades
and facilitates the disputants for mediating
and promoting the settlement of an industrial
digpuile iz called

{a)
(b}
)
(i

Conciliation

Arbitration

Collective Bargaining
Compulsory Adjudication

In which ome of the following cases 18 it
mandatory for the appropriate Government to
make reference of an industrial dispate for
adjudication/settlement to the Industrial
Tribunal/Labour Court/Arbitration 7

{a} A dispute regarding compansatory

allownnee in respect of 50 workmen

by A dispute relating to rules of discipline
i the  organization  employing

100 workmen

in
icd  An industrial dispute invelving any
question of national importance

id}  An industrial dispute in & municipality

1:1.

132,

134,

135,

(3B-A)

Which of the following unitiz) isfare part{s) of
aCPU?

(a) ALL

ikl Control Unit

(2] Mamory Unut

{d)  ALU, Control Unit and Memory Unit

Which one of the following is the full form of
ASCII code which is generally used in the
computer system ?

(a) American Btandard Code for
Information Interchange

(b} American Standard Code for Internet
Interchange

fch  Australian Standard Code for
Information Interchange

fdl  Australian Standard Code for Internet
Interchange .

The term that refers to a set of programmes
and instructions that helps the computer in
carrving out the processing is

ia} Hardware

(b} Software

g} Storage

() Inpot/COutput

One Terabyte (TB) of memory storage is equal
to

fal 1024 Gigabytes

ib) 1024 Megabytes

ic) 1024 Kilobytes

(dr 1024 Petabytes

Which one of the following communication
media supports higher bandwidth ?

(a} Coaxial cable

ib} Fibre optic cable
(e} CAT-3UTP cable
id} Electrical cable
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(e}

{39 -
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136. Which one of the following i nof an operating

gyatem 7
{al UNIX
(b} Microsoft Windows
(e} LINUX
fd)  Microsoft Access
137. IS0 27001 is a standard that relates to
{a) Information Security
(b}  Quality Assurance
{e] Infrastructure Manapement
{di Human Resowree Managpement
188. Which one of the following is an optical
storage device ?
tal  Floppy disk
(b} Hard disk
(e} OD-ROM
id) Magnetic tape
139. Which one of the following is the full form of
SWAYAM, a platform launched by the
Government of India to offer online courses T
(a}) Study Webs of Active-Learning for
Young Aspiring Minds
ib)  Secure Webs of Activity-Learning for
Young Aspiring Minds
ic)  Structured Webs of Active-Learning for
Young Aspiring Minds
{d) Study Webs of Activity-Learning for
Young Aspiring Minds
LSP-U-FTS

140. Which one of the following is nof an output

141.

142,

143,

(40— A)

device 7

{p)  Printer

ib)  BHpeaker

{e)  FPlotier

{d}  Optical Mouse

Which one of the following is nof

a weh

browser

Laj
(b
il
{d)

Android is a mobile

Internet Explorer
Google Chireme
Microsoft Excel
Firefox

- pperating  syetem

developed by
fa)  Micresoft
by (oogle
{e) Oracle
{d} Infosys

Which one of the following iz the correct
sequence of the different states of a process in
process management function of an operating

system 7

{a} New, Ready, Whaiting, Executing,
Terminating

(b} MNew, Waiting, Ready, Executing,
Terminating

icd New, Waiting, Heady, Terminating,
Executing

id) Ready, WNew, Waiting, Executing,
Terminating
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144. Which one of the following is 8 computer
security device ?
ta) Modem
(bl  Compiler
(el Firewall
(d} Interpreter
145. Eavesdropping is a computer fraud technigue
to
ia) listen to private wvoice or data
transmission.
(bl prevent the system from processing or
responding to the legitimate users.
(e]  disahle the network connectivity.
id) debete data.
146. Which one of the following is a pointing
device T
{al Scanner
(b1 Optical Mouse
e} Printer
id} Keyboard
147. Which one of the following is nof a database
management software ?
(a} Oracle
(b} MySQL
el MB-Access
id)  MS-Waord
LSP-LU-FTS

148,

149,

150,

(42-A)

In computer security, which one of the
following means that the information in a
computer system can only be accessed by

authenticated parties 7
{a)  Confidentiality
(bl Integrity

(¢} Availability

(d)  Reliability

Compiler, Interpreter and Assembler are

{a) System software

(b) Hardware

()  Application software
id)  None of the above

Congider the following statements about the
cache memory
1. It iz a non-volatile memory.

2 It is a slow-read and inexpensive
MEmory.

4. It iz a fast-read and expensive memory.
F It is a small-sized memory.

Which of the above statements are corroct 7

Belect the correct answer using the codes
given below :

(a} 1and2only
(b} 3 and 4 only
(¢} 1and3only
id} 1,3 and 4 only
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